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1. Study the trigger select conditions for 10 yeild

Tagger — HYCAL coincident time by hycal trigger
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Event select conditions: 1) Exclude beam-trips;
5) 0.5 GeV< Ey< 6 GeV; 6) 3.5 GeV< Eyy< 8 GeV; 7) Invariant mass MO > 0.08 GeV;,

Tagger — HYCAL coincident time by only coincidence
trigger (no hcyal trigger )
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2) |tdiff|<15ns;

-15 -10 -5 0 5 10 15 20

tdiff,ns

3) Best tdiff; 4) Cluster type: crystal ;




Constraint m by using hycal trigger Constraint m by using coincidence
yy - -
trigger (no hcyal trigger )
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Event select conditions: 1) Exclude beam-trips;  2) |tdiff|<15ns; 3) Best tdiff; 4) Cluster type: crystal ;
5) 0.5 GeV< Ey< 6 GeV,; 6) 3.5 GeV< Eyy< 8 GeV; 7) Invariant mass MO > 0.08 GeV,



2. Define Tdiff cut for piO event selection

M, with no constraint(0 [0,2.5] deg) M, with with constraint(0 [0,2.5] deq)
‘ m,,, *Si, crystal only ___pi0_mass ‘ m,,, *Si, crystal only pi0_mass_constraint
Entries 917336 Entries 917336
2 F ' ; 1 I ndf 286.6/34 2 E ' 'L 21 ndf 360.3/ 34
) 90000 |- fl.t ; 0] C e ki
- © “ ; pk_int 5.746e+05 + 1021 + 70000 : : pk_int 2.287e+05 + 653
& soonoE mean1 0.1353 + 0.0000 = meant 0.1349 + 0.0000
% = j sigmal  0.002269 + 0.000004 % s0000 - sigmal  0.001064 + 0.000006
c 70000 - : * frac2 0.2+0.0 c T frac2 0.2284 + 0.0078
> v mean2 0.134 £ 0.000 > - mean2 0.1359 £ 0.0000
W goo00 £ z = ; L 50000 = ; ; :
= : : 1 sigma2  0.004225 + 0.000039 sigma2 0.002376+ 0.000042
o : : I p6 4327+ 69.3 o : : 1 p6 1.699¢+04 + 46
= 0: 0.0028GeV; p7 1.296+05 1590 - 070.0015GeV p7 1.897e+05 + 2459
40000 |- g p8 4.59e+06 + 193608 0 p8 -1.799e+06 + 82614
& ! : } po -2.267e+08 + 1245232 e o2 - ; : p9 -3.693e+08 + 30930
30006 s ; : : i : é
- 20000 -
T L | L |Lk7‘—v—-— | TR B | [ R | M I
S8 ;

L L L L 1 4 1 L 1 L
0.2 0.14 0.16 0.18 0.2 9

m,,, (GeV)

(=]
B,

Event select conditions: 1) Exclude beam-trips; 2) Using Hycal trigger 3) |tdiff|<10ns; 4) Best tdiff, 5) Cluster
type: crystal ; 6) 0.5 GeV< Ey< 6 GeV; 7) 3.5 GeV< Eyy< 8 GeV, 8) Invariant mass MO > 0.08 GeV,;
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3. study veto cut

m,, for 0<6<0.5, "SI, crystal only

pil_mass_constraint
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